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BACHELOR OF MANAGEMENT STUDIES DE REE_‘P,R’_’:’E}‘LMME
LEVEL 03 S

FINAL EXAMINATION 2011
QUANTITATIVE TECHNIQUES FOR MANAGEMENT MCU 1207
DURATION (03) THREE HOURS

DATE: 19T FEBRUARY 2011 TIME: 9.30 a.m to 12.30 p.m

Answer any five (05) Questions.

Q1. (i) Simplify the following expression’

dast—a)a45°)
(4ab +8)a® —ab+b?)

(i} ~Solve the following equations
a) x*+x-56=0

b) (x2—1) ~27=0

(iii) Find the value of the followmg expressmn when x=4and °
y=1
(=) +ap+y?)
. | (5x + y) ,
(ivy Ifa°=b, b"=cand c°=a then prove that abc=1

QQ. (i) Sirﬁplify the following-expfessid_n.

(2 ) - )i —57)
o flx+y) '

(i) Inan arithmetic progression the third term is 15 and the 8t
term is 35, find the sum of the first five terms.

(iii) " Ina geometric progression the second term is 6 and the fifth
term is 48. Find the sum of first five terms,

(iv)i A person deposits Rs. 5000 in a savings account which pays
an annual compound interest of 8%. What will be the total
amount in his account after five years?
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- Fmd the dlfferentlal coefﬁc1ent of the followlng functlons W1th
. respect to “x”

@ A +3x'+.4:" (ii) | (sz—!—AI)‘(x3+3) (i) (x2#1) |

Flnd the mtegral of the followlng functlons with respect to
" xu B . : _ o B
43

2x

_(1) x +7x+3 (11) —.. ' : (iii)

Briefly eXplain the fo]loWing methods of data collection
highlighting their advantages and d_tsadvantages

(1) Secondary data .

(i)  Postal Questionnaire-

(iii) Interview method °

(iv) DlI'CCt Observatmn

' Usmg your k;nowledge an mdexes explam how you construct
(3} All share price index. ' :

(i} Gold price index and . .

(i)  Wheat flour quantlty mdex for Sri Lanka

The follow'mg data descnbes the chstance to Workmg place of 40

employees measured i in Killo Meters.
-9
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Construct a grouped frequency distribution table consu:lenng
class intervals as 1 6, 7-12, 13-18, 19-24, 25-30.

Construct a hlstogramme for the data with the help of the
grouped frequency dlstrlbunon constructed above.

With the help of the hlstogramme constructed above ﬁnd the' _
modeofthedata L _ T

Construct a cumulative frequency curve for the given data ' tL

Using the cumulatlve frequency curve construct & find the

- median.

Calculate the quartile deviation using the ogive.

(vii) Describe the distribution of data. -



o+ calculate;
- (i) Mean
(i) Median
(iiif Mode _
(iv): Standard Deviation
(v) Coefficient of variance
(vi) Skewness
(vii) Using the values calculated above, descrlbe the data and
their spread. '

6. - In respect of the followmg group frequency d1$tr1but10n table

Class Frequency
10.5-20.5 20
20.5 - 30.5 39
30.5-40.5 75
40.5-50.5 48- _
50.5 - 60.5 18

Total 200
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